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- objective : specify sufficient condition on f

so that a unique solution exists
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Let's discuss what goes wrong relative

to linear
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existence and uniqueness of the solution.

so-me.de/initians--:-f:1Rn-s1Rnis-agLipsH-z- if
for every compact set DCIÑ, F- 1h > D s -t.
-

closed and bounded

llfcxi - fcgl HE 1-KATH , Hag c-☐



-
It can be defined w.int different norms .

we use Euclidean norm
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Observation :

• if 11-1×111 is bald on any compact set

then
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f is locally Lip .

• if I flail is bdd globally • f is globally Kip .
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is differentiable and for convex set
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- How strong is Lip. assumption?
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for all t >to


